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For any clarification in Hindi or Punjabi text, refer to English s | fodh e

mﬁﬁﬁ@ﬁmﬁm%wﬁz;wg%@ﬁmw
&1 Rufay # wiower & fog Sl 919 @ B &l 7 _
mm@@mﬁmwémwwwmwa | fart =
i 9t rfafg few muEdtaae B WO IHT & THG I HoW J=aT | ‘

1 | A concave mirror of focal length 20 cm produces an image four times the size of the
object, if image is real then distance of the object from mirror is

20 A mwmmﬁaa%mzﬁmwmﬁmuﬁiﬁmmﬁ
| i} yfere arafes @ @ <dor | fam o gl

20 A SaA Tt T T3S TIUS THI %WHEBW@F&HW%I o ySifag mmi’r

I3 e R eE I TR
A. -60cm C. -25cm
B. -100cm D. -15cm

2 | For which of the following quantities the numerical value remains constant during
uniform circular motion

A ford @ @ AR B FERATHS T WS T9E g TR 7 orer @ @ 2
5 faftot &9 faodr guier T vs a0 s saaarg ot @ 99 sesdt 53t Y |
1 Centripetal acceleration (F=HARY) (FEt y=an

T
2 Velocity a1 (%HI) Mwﬂ-ﬁ X "ﬁ:;"?: 5 v i
3 Momentum S (H<dl) 5 ?,'-(’ SRS i\ g
4 Speed T (IB) ’
A. 1and2 C. None of the above
B. 3and4 - D. Allof the above

3 | The ratio of distance to displacement when a body completes one semi circle Is
7 3¢ five Idga [ &var & Al g AR R a1 aua @ -
7ie aet TR wigr Jad yaT &3¢t J 3t gat i3 femanus & nigurs 3
A N C. mR

B. 2nm D. 3m
4 | The magnetic fleld produced inside a long solenold carrying current is

% a1 IRIferat § yanfed fagd a1 @ omR ¥ SO gRaE &4......... B § |
féq St et &9 e ade Buer § 3t nieg Ver Ifenr Guat B

A. Same at all points - . Minimum at the middle
B. Maximum at ends | D. Maximum at middle

(3)
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The total number of electrons present

in 4A current flowing for on

IR PR A e arwy 4 4 Udvg
ﬁuﬁntﬂhm@aézqﬁﬁa'aﬁwﬁrz(ﬁa)ﬁ%afﬁawﬁﬁfwﬁéaﬁ-
A 25x10" —

€ second ijs —

B IR D yare F gergHi

T B T W, g 2 |

C.
B. 125x10™" o

D. 6x10°
Total internal reflection of light takes place if

TR BT o icRe WRads 2y eafe..
HAH T USS niegdt ugwess ger Y

A.  Angle of incidence is less than angleof |C.

reflection Light travels from rare medium to denser

medium
B. Light travels from denser medium to rare

A D.
medium

Angle of incidence is equal angle of

‘ reflection '
A body dropped from top of a

tower falls through 40 m duri
fall. The height of tower is (g= 10mss?)

T AR B W et & o aifew @ wwe
I ... 2 (@=10% /97

R g 93 3 il 2 28t et 3 oy
Budt ¥R1 (@1= qomm-?)

A. 60m

40 W B N 97 FA T | FAR A

sl 2 Rfeist 29 80 Mtes et 3 it 1 ot

C. 50m

B. 90m D. 45m

If two protons are brought towards each other, their potential energy will —

A AL BT UF TR B TEF AN W 39 R s

e Wl T )

¥yt § fx wn ¥ 33 forret fami 3t @t & nfrzw G

------------

A. Decrease
B. Constant

C. Increase

D. None of the above

If the momentum of an object is doubled, the kinetic energy becomes —

el Rve &1 W A T R R IER AR Fo T AR |
faR TA3 @ Akl § TareT a9s 3 fen <t afsw Qo fadt § et

A.  2times C. 6times

B.- 4times

D. 5times

10

A body is falling freely under the action of gravity alone which of the following
quantities does remain constant during the fall ?

@ fivg Tody 90 @ 3 Wad w9 A R <@ 2 | 39 v 9t oy
-0 TR areR <& ? 2 -

feqr g fige gas" B 9o U9t 36 FE593T uoea f¥a 3t 313s fafiont 45 fagsht andt
foars A R At 3

A. Kinetic energy C. Potential energy

B. Total mechanical energy D. Momentum

1

If 5 kg body fajls to ground from a height 30 m and all its machanlca‘! ;¥mrgy Is
converted 1htb heat, the heat produced will be

uﬁ5ﬁiﬂﬁﬂ$ﬂ$ﬁﬁ3b%ﬁ.ﬂ%ﬁl’§%ﬁﬁlﬂmﬁmﬁaﬂ?wﬁwm

(4)
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C. 350 calorie

A 50 calorie 150 calorie

D.

N
“ancy 500 H

B. 100 calorie

frequency
sound wave of freq 00 Hz s -

—is 300 m/s, the speed of the

If at a place the speed of

12
wave at the same place if

ts frequency becomes 17 & Ty 300 ./, & A T WA

af wF WA W 500 Hz (8E)

mqﬁlﬁl‘aﬁﬁﬁi’f

TR en® |

R 1000 Hz IgRT Y AT T =t 300 /A 32 3t fegs’ 3dar < GR

amﬁwagﬁaﬁwawﬁﬁuouaﬂzﬂﬁ%ﬁ

w3 e SRat 3 wiifest G000 TaeH I

C. 600 mis

A. 300 m/s

D. 200 m/s

B. 150 m/s

13

If the equation of transverse wave is given by y = 10 sin n_(ﬂ. 01x — 2t) whe[e xandy
are in cm and t is in second, frequency of wave is —

uﬁﬁmmwmy=mﬁnn(o.olx-2t)%ﬁmﬁxﬁmy'ﬁ.ﬂ :
s 4 & A T B R R | fﬁé‘j?@
ZREY G s

Had JIARIA 3901 ¥ AHlEE® y-= 10 sin 1(0.01x — 2t) J pA:

75 vi3 t Afdls 9 3 3t 3dar & et ikt 3 9 N\~
A 1 Hz C. Jp,f
B. 2 Hz D_j}-",_,z

14

A force 4 N is applied on a body which was initially at rest if the mas
SO
kg the work done in 3™ second is — fthe body is 20

TEel ¥ e # Red fve w 4N &1 990 dman s
7. 8 At AR Abe F e Rt 7|

fes 2z w ufowst feans nrerer 9 1, €3 ¢ folen uw ma fivar I T YA
20 i 31 I Afds R oy Gu i faror ot B39 Yy

g | afX fve 9 mmEm 20 5

A. 16  Joule C. 2 Joule
B. 10 Joule D. 5 Joule
15 [ A force acting on a body of mass 5 kg changes its s
seconds the force acting on the body is = i ks
5 kg AT A1el 0 IS WX T T S A 25 W # 2 s 12 m/s B WY
g | &g W W& qe... |
I‘ﬁafengl §uT a1 foor a5 2z St § 2 HieT Y3t Afids 3 92 vitew w2t Afits 35
Afdls 49 T e d1emg o gy e a3 m&m#ﬁwaﬁﬁya
A 4 N C. 6N
B. 2 N D. 5N
16 | The outer most layer of human eyels
A SAEH T e ALY | B
95 fiafent RS Tt gt s aret v 3 o

.(5)
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A. Sclerotic

C. Cornea
B, Iris D. Retina
Value of 0°F on Celsius scale is ——mou-w
0°F A &1 A M e R
0°F 3UN'G RBHMA Aa® 3 fdat Jear|
adlieh. i C. -15°C
B. 20°C D. -17.8° C

Which of the following properties of a wave does not change with change in medium?
o @ frefofea 1o & 5w o &1 A e wee ® T age & ?
35 fod g 9 3391 = faomr o wfons wess o8 &3 weser 3

A.. Wavelength C. Amplitude

B. Velocity D. Frequency

The time taken by wave to travel a distance of 300 m is if frequency of wave
Is 500 Hz and wavelength 0.2 m

| A T amgfr 500 T TRTRE 0.2m @ At 300 # P T T B A W ...
oo

300 Hieg & et 3nt aas ot 3dar ovimar fidar R a8 3 wifiet 500 Hz w3 331 Bt
0.2 Hizg &® :

A. 60s C. 30s
B. 15s . . D. 3s
20 | Pyrometer is used to measure
UrEties &% witmr wer 3
A. Latent heat | C. Low temperature
B. High temperature D. Specific heat
21

Find the total current flowing through a circuit wherein resistances 5 Q and 6 Q are
connected in parallel and potential difference is 6 volt

forlY g wRawr % 50 @ 6 Q & WA AR 39 ¥ 92 € o =R 5 A
af yarfed g REd g B

raae 25 35 ade 13T a3 7 5.0 i 5.0 2 yFU mise 73 T2 BN Wi € Zue R

A. 22A - : C. 3A
B. 4A D. 2A
22 | Myoplia in human eye is due to
@Y gfe v 77 B @ F B BT IR B -
W&t iy ¥ 9 fomesr & dar Jer 9
A. Increase in length of eye ball _ C. Increase in focal length of eye lens
B. Decrease‘in length of eye ball D. Defectin comea

R R R T @ fore Sod o &1 A 6 i R -9 o @ A

23 | A copyex lens Is used to form an Image on screen. When halfof the lens is covered with
hlaﬁﬁaper, what type of image will be obtained on screen?;.

(6)
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formed

A. No image will be

B Halfimage will be formed

.

lete image will be formed

Cc. Acomp
D. None of these
prescribe lens of appropriate focal

24

n can see only up to 3 meters
cles so that he can

G- 2

If a perso
length for his specta

qﬂ;mﬁﬁqﬁsﬂ.{aw
i 12 N D P T8 TH-IP

clearly,
see clearly up to 1

TG wHAE 7

ﬁawﬂa%é&w%ﬂmﬁﬁ@ﬂﬁqai}ﬂzﬁ
faeafaﬁfﬂ%z‘a’am%fé‘ﬁ%aﬂgﬂmwawm

2 meters

- |l R frT PYBEIR B T |

3 e e 2 37 BA § Ao feB

A. Concave lens of focal length4m

C. Convex mirror of3m

B. Convex lens of focal length 3 m

D. None of the above

25

A prism splits a beam of white light into its seven constituents beca u_w
ﬁaﬁmm@aﬁmﬂgmﬁ$mm*ﬁﬁmﬁ%§ﬁa‘@w
ot

72 gt yare fymn 29 dwer 3 3t feg o Jaf e S e d

A.  Prism has all angles equal

“bh:ljﬁefr‘t-t colours is different

B. Prism’s all sides are equal

ocity of different colours is different in

fprférm

26

The velocity of light in vacuum can be chang‘bﬁby changing ————

frafa 5 warer & a7 B .......... ¥ WRadT ¥ g2ar 1w B
35 fafemit (5 fon & 225 & yom & ot § vem (fsoeg) o sefonr 7 Faer 3

A. Wavelength

C. Frequency

B. Amplitude

D. None of these

27

kWh is the unit of
frerare—uer ... 3318 2 |

fo3 272 wier(kwh) fam & fearst J

A. Electric power

C. Electric energy

B. Current

D. Electric potential

28

o oFl a1 S g @ e 4 /3
@ U T P AIIAANP...... BT |

gear

If refractive Index of water with respect to air Is 4/3 and
Is 3/2. the refractive Index of glass with respect to water will be

ﬁu@m%ﬂﬁwwémﬂuwmﬂaa{am%amﬁ%

that of glass with respect of air

%Wmm)ﬁmﬂﬂﬁﬁa/z%a}w

3 AR 2 Ut 2 iy g i

A 2

C. 98

B. 1

D. 89

29

I B 3t A ot B3 w® W) ),
Wt vt % S ernings

Colour blindness In human eye can be cured

91 § wgn3 iz i Rawr

by using
o T T AR R |

A. Concave lens

C. Byusing bi-focal lens

(7)
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The unit of gravitationa| Constant is

mﬂmﬁmﬁw ................. T |

qGS" MITHE AIET W (ur) & firaret 3

A.  Nmkg?

D. Cannot be cured
_-_-__-____'—-—-—_______

C. m/s?

Its momentum changes but total

: energy
remains the same

C. Total energy changes but momentum
remains same

B ?E?_:;ir::;"::]:m and total energy D. Both momentum and energy changes
32 | When water is heated from 0°C to 50°C then its volume
| 919 S 0°C | 50°C @& T faa I 8, A SHDT ARITH.o.....o
e Ut § 0°C 3 50°C I areH 3T A= 3t fiemer nidtas 3
A. Increases C. Remains constant
B. decreases . D. First decreases then increases
33 | When a body is mnvlng_ up, the acceleration due to gravity of body is acting along
waﬁ'{mﬁm$wwm@iﬁmmaﬁw .....
e et 2R3 Gug <o 7 39t T2 3 g3 @2 o Femeaeme et |
A. Downward C. Upward
B. Horizontal D. None of these
34 | Sl unit of heat is—
&S B (AT, TPE...co B |
3yt S| fearet 31
A. kel C. Erg
B. Cal = D. Joule
35 | The weight of a body becomes Zero at —
e T TR BT AR I BT R
faR TAg e g9 Hid J Afer I
A Atpoles of earth ' C. Atthe centre of earth
B. AtEquator of earth D. ‘None of these
36 | The cone cells in human eyes are more sensitive to . |
ﬁﬂﬁrﬁaﬁ%ﬁrﬂiﬂ$uﬁln§maﬁsﬂaaﬁaﬂwaﬁﬁﬁﬂaﬁ$mw% |
W why B 3 Mo faa3 dat BE <09 AREsHIS T6
A Redand green.cnlour ' C. White and pink colour
B. Yellow and violet colour D. Orange and brown colour
37 Acﬂogjﬁld reaction forces can not cancel each other b“a.""‘-q;‘?
o IR SR @ R 1 Frord T @ wwd & A

fa\
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I

Tl w3 et e 2 § Al a¢ Ao (a1 D P
A. They are acting on same body C. They are acting on different bodies
B. Theyare equal and opposite D. None of the these T ——
38 | Magnetic field due to current flowing in solenoid depends upon .. T
Renferat 3 yafea fg a1 & wro S g & R PR Bt @ |
%mmmﬁaﬁ?ﬁﬁwﬁaﬁmmwﬁ
A. Number of tums in the coil C. Current passing though solenoide
B. Nature of the material of core D. Allof these
39 gﬁbulb of power 100 W draws a current 10 A then resistance of bulb is —
ﬁﬁa;ﬂﬂaﬂﬁﬁ 10 TR fagge a1 ware ot @ @ 7e7 51 wh. 2 1
o At ﬂouwﬁn@fanﬁa‘ﬂoﬁmﬂmaaraé‘zéu@ﬁéaim@qsﬁuw
A 10 C. 30
B. 20 . T
40 | The force on a current carryj ' . - -
rying cond i : A
between current and magnuticgﬂ;; i: ?_t.ur._m Gk mamm_:’.ﬂ"if“?“gl“
ﬁ%ﬂ?gﬁmﬁqéhiﬁi%qﬁEﬂﬂImﬁ&Taﬂﬁzmﬁﬂmmﬁq?nﬁﬁ7;rf' \ s
ﬁf-qﬁqﬂqifj@ﬂﬂﬂﬂi?ﬁﬂ?ﬁﬂm ......... BT ? | RGN L
?Fmﬂﬁﬁaﬁzﬁﬁﬁaﬂ'%?ﬁw“ = \nmrﬁ;r..
et 359 % 5 e RS T R
A 0 \GBJHJF
B' N 4
= T|'1 "fzd D. 3nm/4 e
€ product of a rational number and irrational n isa:
o ’ o : he umber is a :--
ufaHa #3 niufarer ffipnr e greres 3 -
A. Nat}:ral number C.. lrrational number
B. Rational number D. None of these
42 | 737 in the form -E is '
37 BT twu 2
37 e'fggufr
A. 37 | C. 38
100 - 100
B. . 37 D. B
| 99 " o
43 | The system of equations 3x - 2y=4and 2x +y=5 has
WHIGROT 3x-2y=4 and 2x +y = 5 5T & 2 |
AHIGEE 3x -2y =4 M3 2x +y =5 T8 T -
A No solution C. Unique solution
B. Infinite solutions ‘;,,’11 D. More than one solution
44 | When the numerator of a fraction is increased by 4, the fraction increases by 2/3. What
is the denominator? 2B

(9)
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Je= M 2/3 9g Gran 8 o &% &1 |94
ﬁagfeawvmnw_mmarwsrw&f‘weuwama?waﬁém
A 4 G 7
B -5 D. 6
Ifx1—4x+1=0,thenthevaluenfJ:3+-1—is:
2 _ = 1
afd x* - 4x + 1 utﬁuff+-§mmﬁm|
HaT X - 4x + 1= - 3
X+1=0 It + S7r 15 T
A. 44 G 52
B. 48 D. 64
2
46 | If one root of 5x” + 13x + k=0 be the reciprocal of the other root then the value of k is

U MBI 5x + 13x + k=0 BT & [ TR @ ST 2567 2 A k BT AW BT -
ﬁm533+13x+k=n?fea'l;{$g‘ﬂﬁ‘?fm5%3* k€T HS d<ar

A. 0 C. 3
B. 1 D.
47 | The factors of 2x* + x - 6 are

ST 2%+ x-6 B OFRES ¥ |
AHIEEE 2x* + x -6 2 TE5T T5

A (%-2)(2x+3)

B. (x+2)(x-3)

48 |fx+y+z=0thenX’+y*+2° is
'!Tﬁ'x+y+z=0?ﬂ X' +y'+2° BT AFL.BT |

C. (x-2)(2x-3)
D. (x+2)(2x+3)

Aad x+y+z=03" x*+y* +2* T y5——- G2qrr

A. 0 C. 2xyz

B. Xyz D. None of these
If the roots of the equation ax® + bx + ¢ = 0 are equal then the value of ¢ Is —

afe FHHIT ax’ +bx+¢c= 0D Yo A & a1 ¢ &7 AN |
Had HOUT ax’ + bx + ¢ = 0 T fieat 99w 95 3t ¢ THTE T2

49

A —b C. e
2a 4a
B. —-bh? D. b2
4a T
50 | The condition that the roots of the equation x* - mx + 4= 0 may be real roots is —
e @ o aafas s afe..
ggue It fieet smafea T5 wet wadt .
J A m’ > 16 C. m'<16
B. m’ >-16 . D. m?<-16
51 | Hsinxsecx=0,thencosx=
Ifg sinxsec x =07l cosx=
Had sinxsecx=03" cos x =
A 0 ; J:‘-:,? C. 1 'F
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¢0s(30 — X) - cos(30 + x) BT ... BT

B. L = =2
' 2
52 | The value of cos 50°-sin 40°is
cos 50° - sin 40° BT AT BT
cos 50° - sin 40° ST W& J=aI 1
A 1= C. -1 Ly
B. 0 D. 112
53 | The value of cos® 5° + sin® 85°=
cos’ 5°+ sin? 85° &1 HIH BT
cos’ 5° + sin’ 85° YT HTg J=ar
A. 2 sin® 90° C. 2sin’85°
B. 2 sin’ 5* D. 2sin”80°
54 | Ifx +y =90°and x = 2y then cos’x + sin’y = ‘
A% x+y=90°Tq x = 2y @l cos’ + sin’y & A...._ &N
Had x +y =90° M3 x = 2y A cos’ + sin’y It TT W T=arr
A 1 C. 0
B. - 1 D. I
. 2 2
55 | Inaright angled triangle ABC with right angle at B, sin A can be expressed as:
i & GBI st ABC &1 ST B Ww&Ior @ @t sin A &7 7M. 2 |
d< B 83 midfsa fagma ABC fegsinATvHs &
A. SinB C. Cos B
B. SinC D. Cos C
56 | If sin A=x, then sin 2A is equal to :—
af sin A=xdal sin 2A &1 4.2 |
Had sin A=x 37 sin 2A ©7 W& <3
A. 2x C. xvi—x2
B. = 2x/1-—2x%° D. x/1+ a2 |
57 | If the shadow of a tree 6m high is 2v3 m. The angle of elevation of the sun is —
99 GG A BT I=EA B B AF T M 949 0@ v, R Hard 6 0 2,
@ BT 238 ?
Jaa feq 3y fanet €698 6 m T 23 8 2v3 m J 3' §ow ¥ 895 A< € Wy Gt
A 60° c. 75°
B. ac° D. 45
58 | The angle of elevation of the top of a tower at a distance of 200 m from Its base Is 30°
tf;;';“;i’;?;?mﬁﬁa 200 MreX WX @R &1 3= Fivr 30° 2 A AR
F FAY ......... BT |
fom zreg 3 200 Mg &t gt 3 rfea fex firg 3 zree & 9t e Gus @< 30° 9 3t OFed
Guret 2aft |
A 100V3 m C. 100/v3 m
B, 200¥3 m D. one of these
56°| The value of cos(30 - x) - cos(30 # x) Is equal to: ™

(1)
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c0s(30 - x) - cos(30 + x) T W5 Fgpr
‘A cosx C. sinx
- B. Sic g D.  None of these
60 | IFA+B =7, then cos A cos B-sin Asin B =
afc A+B =21l cos AcosB Sin Asin B &1 7. ghn
HId A+ B =2 3t cos A cos B -sin Asin B =7 o s 3qrr
A 1 C. 0
B. 12 D. vip
61 :L:I::rp:tll'::::;;a:sn: a rectangular field is 200 m and its breadth is 40 m, then its area (in
P AWAHR &3 Y 9k 200 2 IR WS 40 W 2 @ TS Amwa BT
L — ) A ST .
"ad fea ez @ dgr 200 Hied & 23 feret §amet 40 iea & 3 fen? doges o i
(JFIN Hted) T -
A. 1200 C. 4800
B. 2400 D. 6000
62 | If the side of a square be increased by 50%, the percentage increase in area is
A F @ @Y qom s0 wRrera w@r 4wt @ @t Swwa uforera @g
SR .
ﬂaaﬁﬁiaamﬁraﬁaaemﬂfgneﬁ501&EﬁrféjhﬁamrafaaaiﬂﬁﬁﬁﬁnEFﬁsamEEF
WS BIIFA -—--~~ YSHI 2U A=ar
A. 75 C. 125
B. 100 D. 150
63 | The radius of a circle is reduced from 9 ¢cm. to 7 em. The approximate percentage
decrease In area is _
IfE v g Y Brour 9 . '\‘?ﬂ?il'clﬁ'?ﬁﬂ’f X &1 Wl @ 9 S=wd araT
feea ftrera we wRbm |
Ha9 fed 999 e »Eufend 9 cm. 37 em. WeT fe3r 712 3 99es 'y miet ySing ure
BIIFIJ -
A. 31.5% C. 34.5%
B. 39.5% D. 65.5%
64 | The area of a circular ring between two concentric circles of radii r and (r + h) units
respectively is given by : '
rd (r+h) Proare arelt @ W= qal @ 99 B &% o1 dEwa. 2 |
€ fidedt gaat fear @ »au ot r w3 (r+ h) 2 few or g
A n (2r + h) h sq. units C. m(r+2h)rsq. units
B. 7 (r + h) h sq. units D. m(r-h)rsq. units
65 | If the area of an equilateral triangle Is 25 3 m?, then its perimeter is
uﬁwmﬁmgﬁgwmﬂam%fm‘ﬁﬁmﬁvﬁﬁﬁwmﬁm—
A9 fea mvgHt fagw o dgees 25~l_m 2991 Hiea & 3t ferer W3 e wis 33qr
A 96 " C. 4/6m
B. 2/6m iﬂ? D. None of these ﬁ
66 | The length of the Inngest rod that can fit In a cublcal vessel of side 10 em Is
94 B 3 ARG T B AH B W 1F e ﬁ‘-maﬁgm 10#
(12 R
- RS ERSES . - - E—

S
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4l

4
%

M. =, o ) wwa) |

feT 10 em 37t 2B waras w99s fev o 7re <@ Higw @ 3 fomrar gy i
d=ait |
A.
10 cm. C. 10v3cm.
= B. 20 cm. D. None of these
With usu:fl notations, the curved surface area of a cone is
T DT B SR WG S T S BT AT . @ & |
e g =7 (curved surface) IIET ¥I9 BT ¥39e® AUIS AT feg Jur F -
A nrth C. 2narh ]
B ar) D. 2h D
68 | How many small cu '
; bes of 10 cm edge can be made f i B
i s e from a cube of side 1 m?
L 1
mmcﬁi avarg ﬁaﬁ.ﬁﬁmﬁm,maﬁﬁwwﬁ}ﬁ.é.
imwww?m@fy 10 A M. 377 =78 wist 2t ifipsr 5247t
. 10 |
= o C. 1000
: D. 10000
63 | The circular base and h
: . 4
ey eight of a cylinder and a cone are same. The ratio of thejp.-~
'J-J_::-_ 4=y
uﬁ“?#ﬁ?@ﬁﬂﬂmmwwwém ens £
: - [ LR -
- TR A gl
A 2:1 C ‘4"?,#‘ - il h
B. < l
. D. None of these
70 | If one diagonal of a cube is 5 V3 cm, its surface area is -
uﬁwma%ﬁﬁ#aﬁmsﬁcmémwa%mm 2 |
we ¥ feq fegae 5 V3 em. it J 3t OFet R o dmmes S
A. 150 cm? C. 275cm?
2
3 E.th 1?5fc:1 - D. None of these
e area of 3 adjacent sid i
L T j sides of a cuboid are x, y, z respectively , then the volume of
g el o @& 9 o waal @ Sava
BUM: xyz e
' yz® O SUST A
Aad feq wee @ f3s wimt e ¥39es xy,2 T 3 waes——- F2qr
A. Xyz C. Jxyz
B. 2 xyz D. 341}'2
72 | If the curved surface area of a cylinder is 1760 cm” and its base is 14 cm, then its height

uﬁwiaﬂ?ﬁisrmw14@.ﬁ.%3ﬂ?mwwﬁﬂmﬂmm’3a’t

TP Hag B A ... B |
8% ot T9q Agt 7 4J9eT 1760 cm’ T ERE wrurg T fan™ 14 cm T 3t el Bumt

GEG)| -
C.,,&CL

B. 15cm

A. 10cm
D.“40cm

73

Which of the following Is not correct?

(13)
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% |/A1S
© [ — rrtataa § wEl T 2 2
/ 35 fafit fee faga rat 501 T -
A Congruent triangles are always similar | C. Similar triangles are not always equal
in area
B. Similar triangles are always congruent | D. The corresponding sides of two similar

triangles are in the same ratio

74 | In two hours, the minute hand of a clock will rotate through an angle of —
s u9) B firre 9 g 2 o o . gw wrkh ?
& 2 few wt ¥t fire =vat gt fagd &= 3 unr et
A 60° C. 720°
B. 360° D. 180°
75 | How many circles can be drawn through three non- collinear points ?
& sy figan o e ga @ o wea & ?
f3s faent 7 fea it 50t 95 3t aves T8 Sa gt ©f Aftmr 3<ait
A. 1 C. 3
B. 2 D. None of these
76 | The altitudes of a triangle meet in a point which is called - -
@ By @ ) b R fig ® Pred € e e & |
feq faae & f35 fieut 3 rovd o@t gaet Ifig ae de fea fig I fise o Ifieer
ot=—- J
A. incentre C. circumcentre
B. Centroid : D. None of these
77 | The perpendicular bisectors of the sides of a triangle meet —
| freft Prger @ qorreil @ arawmfeTae fear g w® fraar 2 ?
ot fagm o 89 S9mva firser 3
A. In a point C. In three points
B. In two points D. None of these
78 | The length of tangent drawn from a point 13 cm away from the centre of a circle of
" | radius 5cmis .
s A B 9 g9 @ o= 9 13 L W Rea fag A g w @i+ 13
Wl @1 B TR s 2 |
5 cm 3T foy 278 999 @ 99 T 13 cm, Tat 3 Afaz fag 3 fusl Auew 3y &t Savet §
A. 12 cm. C. 18cm.
B. 8 cm. D. Vi94cm.
79 | The number of tangents drawn from a point lying outside a circle Is
qa 3 ae} frelt g @ g9 W ©i 91 w9 el welf qo Ewt 9 we......
w8 |
favit 959 3 a9 fea fiw 9a9 3 S e T8 Auaw dur &t <1 3' <1 Afiprr I3t
A 1 _ C. 0
B. 3 D. None of these
80 | The angle In a seml circle Is -
FEqa @ DIV BT AM...... B _
WA W e e T v T2 P
A. 30 degrees C. 60 degrees
(14)
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D. None of these

B. 75 degrees

The mean of 12 numbers is 16.4 ; that of 13 numbers is 12.4, and that of the remaimng

81
5 numbers is 20.8. The mean of all the 30 numbers is :_—
afe 12 Wt S A BT AT 16.4 YT 13 WERIT D AT BT AT 124 3R gy
5 WAl B WA BT A 20.8 © A WA 30 G D AT BT A Ty |
Aa9 12 W3 S HIIS 16.4 I 13 a3 ST HOS 12.4 & W3 9t 5 Wafamt ot
HUN'S 20.8 T 3T AT 30 niafamr ot oS
A 16.4 C. 144 o
B. 154 D. 174 o

82 | Histogram is — |
K 2 2 A
wrfes foda Jer
A One dimensional C. Three dimensional
B. Two dimensional D. None of these

83 | The gap between the highest and the low .

; est score is called —

ST W@ e o e e 2 |
Haa‘@vhénaﬁ‘é%w#éﬂwﬁ—-—aﬁ%aw ¥
A. Class interval le. Range
B.

— _ Data D. Length of class interval
1:11; d:strlhut‘iun, n!ean is 50 and the median is 54. The mode will be

Wme?#ﬂmmﬂﬁsuqﬁmﬁuaﬂméfﬁwmm ...... BT |

Haq fex gearg fag Worrs 50 3 Wfuar 54 I 3t wgma oy F2g
A. 62 _ C. 74
B. 40 D. 36

85 | The number of timesi a particular item occurs in a ¢lass interval is called its -—-
fost @ armovrer & Rovlt w2 1 an-ar Pl B . ey T ? |
mmﬂmmmwﬁwﬁmﬁ ————————— afie &
A. Mean C. Cumulative frequency
B. Frequency D. None of these

86 | The mode of 8,9,10,11,11,13,12,13,13,14 is —
e 8,9,10,11,11,13,12,13,13,14 BT TWAS....... § |
W 8,9,10,11,11,13,12,13,13,14 &t wgsq ---
A 10 G - 12
B, 11 . L D. 13

87 | The mean of first 10 natural numbers is —
Tgell 10 WTqd AEAR BT A ..... B |
ufast 10 yfeEa Aftmret e HUHTS d=aT
BI|I 11!2 D. 4

88 | Class mark of class Interval 30 - 40 Is

i F=aRTdl 30—40 HT I fugeT & -

eaarsu-me*eaarfiiﬁ @

A 30 | Cc. 70

B. 40 D. 35

(15)
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"The relation among mean, median and mode in a data is
fpeft ardes o Wrem, Myt v ages F w2
~--HUH'S, HfUa™ 73 998 f<9 yue faa 5 wem@er 3

A. mode = median — 2 mean
B. mode = 2 median - mean

C. mode = 3 median - 3 mean
D. None of these

The mean of 50 items was 20 but later on it was found that an item 23 was wrongly read
as 73. Correct mean is :

50 MBS D BT e 20 AT AT AP 9 A qar gar fF v g o
ad H 23 M 73 v 1 | wdt e R

50 AT TTHUN'S 20 T w3 g 2T uzr & famr fa 23 ot 8t 73 ufaw afes /it 3t
MRS HUH'S J<ar

A. 23
| B 21

Which of the following weighs the least?
Frefaafaa & feaa amr sad a9 2 7

C. 19
D. None of these

91

35 fafirr feg' fareragwe 3 1
A. 2.0 gram mole of CO, - C. 1 gram atom of Calcium - =
B. 0.1 mole of sucrose(Cy;H32044) D. 1.5 mole of water '

92 | Neutrons are present in all atoms except:—

............ ! Blgax @ gwmogEl ¥ i SuRed #d ¥ |

& &7 a fales Ad vawgnt feg 3 |
A. He C. H
B g . " D. Ne

93 | Which of the following statement about the electron is incorrect?
e @ ey 3 Frafafaa & a9 a1 suw ad T 2 ?

faoar aus fedaes o9 rat &4t 3 |
A. Itis a negatively charged particle C. Itis basic constituent of all atoms
B. The masqs of electron is equal to the D. ltis a constituent of cathode rays
mass of neutron
94

Which of the following properties of an atom could be explained correctly by Thomson
Model of Atom?

gea] @ Prafafaa o § frae) amen g disd ¥ Tl B S
el & ?

YGH'S € A9 TS HTHAG W3S § AUl TeHER & |

A. Overall neutrality of atom

C. Position of electrdns, protons and
neutrons in atom
B. Spectra of Hydrogen atom D. . Stability of atom

95 | Inthe Pz-’sz_.- and CI lons, the decreasing order of size Is:—

p* s¥ AR CI AT+l B AR &1 JANE B4 & —

p* s2m3 Cf nirfest o MeIT AN T | |
A crsZp” C. s2crp®
B. Es'.éi'.Cf D. Si'lp:""cr
96 kyariable valency Is exhibited by : ’?
A AR aarSem &1 e gafar @ SR
TOBs BT fiHaaT - JE J |
A. Ca C. B

(16)
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B. As D. Fe <
97 | The maximum number of electrons in 3™ period is:—-
IR amad F g™ B IRE A G@&; e gl 2 |
JINd nrea3 few fedaers St mifaaaw fifir 3 |
A8 C. 32 B =
- B. 18 D. Between 8 and 18
Lh:l elllem?nts A, B, C, D and E have atomic number 9,11,17,12 and 13 respectively,
( c Apal;r gf Elements l;;lungs to the same group?
el A,B,C,D T E#Y Uvmvy v s 9,11,17,1279 132 | awal &I
BT T o d A 2 2 o
IF 3 UaqTE Afipyr ¢ LR gy
m;.ﬂ.c.nmaee? z 911,177,123 137 |fqgg Izt &r feer Tt 319
I : -
A A&
= B&g C. A&C
D. D&E
99 |(p
: ggt;n:ﬂ has the molecular farmula_CgHm. It has covalent bond.
AT A CeHy | gy wEhare e 2 |
i‘ms ST MERT HIT I CoHy, fort fog---- rfg-iaint fras o
B. 12 = =
100 | The ;;;::,::ume nf_nrganic compound is-— .
...... WS B1 e @ @ |
aefed Gio v Wy g3
A .
VEQEIEI?IE Klng{dum C. _Animal Kingdom
B. Synthetic reactions D. Petroleum
101 | Natural Gas is composed primarily of —
nafos N e R e @
yfqfsa dim Wy 39 3-—--3F wt 3
A. Methane C. n-octane
B. n-butane D. A mixture of Octanes
102 | Which of the following polymers of glucose is stored by animals?
@ @ FrefaRaa 3 A B TS SR GRT WRE R i @ 2
Jgad € fa03 vgsa upnt feg iEs nie o5
A. Cellulose C. Amylopectin
B. Amylose D. Glycogen
103 | PVC polymer can be prepared by which of the following monomer?
4 4t W qgae Frafafaa 4 59 toa @ R fear sar 2 2
Ut 1 it 998q 35 fed duF feasa s @ gsv 05 |
A. CH3CH=CH2 C. CH2=CHCI
B. CBH5CH=CH2 | D. CH2=CH2
104 | Heating of rubber with sulphur is known as —
e TS B AT TR B T S DY UfpAT |
BT § 999 &8 910H G965 § -—------ qfde 5 |
A, Galvanisation A C. Vulcanization
B. Bessemerisation """ D, Sulphonation
105 | Which of the following enhances lathering property of soap?

(17)
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r’*ﬁrnrfaﬂaaﬁfaihmﬂzﬁmﬂmmﬁa%waﬁmé?

| /A15

A5 feg -—--- 91 1T 592 ¥ e § =uger ¥ |

'A. Sodium Carbonate C. Sodium Sterate

'B. Sodium Rosinate

D. Trisodium Phosphate
106 | Permanent hardness of water is due to presence of —
. B SIRART B BROT T B ot Falar el 2
----- ¥ 95 WSt T AETet 93T a9t 7 |
A. Bicarbonates of Sodium and Potassium | C. Chlorides and Sulphates of Calcium and
Magnesium
B. Chlorides and Sulphates of Sodium and | D. Bicarbonates of Calcium and
Potassium Magnesium
107 | Which of the following is not correct about P, molecule of white phosphorous?
BT BRGIRE D P, I & w9 3 Prefafad 4 @ o w9 @ ?
Ae¥ THIN ¥ P, & wrd At &t 3 |
A. Ithas 4 P-P single bonds C. PPPangle is 60°
B. Ithas 6 P-P single bonds D. Ithas four lone pairs of electrons
108 | Coke is used in metallurgical processes chiefly as —~---
arged 9fFa ¥ Bl &T uahr... P ®U W gar & |
U3 f9 aa v Qudier----- fegduer |
A.  Flux ) C. Slag
B. Reducing Agent D. Oxidising Agent .
109 | Copper pyrites are concentrated by —
............. A DR IRRIEE HHaIEd fHar o 2 |
--—-qT UEIgEIeH § fweETader I |
A. Electromagnetic method C. Gravity Method
B. Froth Flo_a-ting process | D. Allof the above

110 | In blast furnace, Iron oxide is reduced ia Iron by —

9 A (@ B9 ) ¥ IR AfeIES B A9aT (dten) IR WD
gRT BT & |

gGHC 961 f<9 nirfegs mranrels wifeeas feu -—--3' swafag T aer ¥ |

A. Carbon | C. Carbon Monoxide

B. Limestone D. Zinc

111 | The reason for a very large number of carbon compounds is —

a4 el B 9ga ¢ W& BT BRI 2 |
qaus Gfara €t 97 Aftwr 27 age ---3

A. Its high reactivity C. !ts capacity to form covalent as well as
lonic compounds
B. Its property of catenation D. Its variable valency
112 | The acid rain possesses —
v 9t A........... U AT ? |
nH® grfor feg----urfenr fter 4 |
A. Sulphuric acid C. Sulphurous acid
B. Nitric acid D. All of these
113 | Lung diseases are four times more In urban areas than rural areas. This is due to

presence of ~——

iy A1 B e wed A5 A 963 B W AR v ARw } | gwHT FROL
e DY TURATT | Y 4

| afiet fewrfant fora Sedtatnt St fanefont i3 feafant 78 w9 grer S0 05 1 feg o

q95 -—--T5

(18)
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C. N ) €

A. T
SOz T D. Waler vapours
B. CO; _

114 | Which one Is not correct? Greenhouseo uf_fuct - 5
eRa e (N o) W © w1 B e T 2 7

afts @ 7t afea? W YFTe @ U~~~ &1 J |

A 1s due to high concentration of COzin | C. Would result in warming up of the earth,

atmosphere. : : :
B. Is influenced bY gases such as CHy4, O3 D. Would result in I'Pwenng the !EVE' of :
and Chlorofluorocarbons. oceans due to high evaporation.

115 | Fluorosis , a bone disease Is caused by the presence of ——

G, T aler A, it SuRfY @ HRT BT @ |
s8afnw fea afemt &t fawmdl er o ---- 3

A. Pesticides in ‘water : C. Carbon monoxide in air
B. Fluorides in water D. Sulphur dioxide in air

116 | Photochemical Smog is related to the pollution of -----
TOR—INRNE W..... 3 gguer ¥ wafea @ |
¢ AIfeaa Aier----2 ygns 578 fuug 3

A._Soil - C. Noise -
B. Water D. Air

117 | The maximum prescribed concentration of cadmium in drinking water in ppm is —
& it ¥ dfm A @ & g ¥ afrwer PafRe w2 |
utE € urst 9 afsfimay & <1 3 21 fusa—--wt @i

A. 0.05 c. 2

B. 3 : D. 0.005

118 | The alkali metals are low melting. Which of the following alkali metals is expected to
melt if the room temperature rises to 30°C?

AR G BT Gaviie H ghaT @ | afy W 1 A 30°C 9% 92 w9 ql
fFr=ifeRaa & f5w ar ag & a9 v @ 2

yg o3t wefuupn @ 9% 1 35 fafimit fo9' &3t wa w3 30°C 3 sRy w95 575 fuus

Ar=ait
A. Na C. Rb
B. K D. Cs

119 | The reducing power of a metal depends upon varlous factors. Suggest the factor which
makes Lithium, the strongest reducing agent in aqueous solution —

frl) arq @1 s ufda R st W Felk 3wl @ | @ ere T o
sl e o Rifdram &t walfers svars wfd wer svar 2 |

frt O3 ©f weds O 39T aet Faet §F faeg9 aget T | I fafint fe doar Sty
& a3 7 werfT € 393 IBT AEHTE! WE werderd |

A. Sublimation Enthalpy C. Hydration Energy

B. lonization Enthalpy D. Electron gain Enthalpy

120 | Silicon has strong tendency to form polymers like silicones. The chain length of
sllicone polymer can be controlled by adding :

Rifera 3 Riferdl TRy Tgad T oY i g s @ | Rifersl ages @
gaar ) T B)... ey b fear o ww @ |

etas fog MElasy Uehe sode e fotur gos & | lslas ushe &t gt § -----

U FFATA RGN ‘

A. MeSiCh -Vt C. MesSiCl - i)

B. MesSiCh ' D. MesSi :
(19)
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& AT S Crust?
13t ¥ Wt feg g 5 fora o« ESERU 2
A. Fe WL____MEEI d 1
B. Al —_|C. cCa >
RILEE | v
S Hm...........-........ﬂa‘[ ﬁm}' g I
A Zncp ):3 AT raTels o g |
. owder
B. Sodium Metal C._Potassium Metal
123 | Aluminium ve D._Aluminium Powder
i ssels should not pe washed with materials containing washing soda
T @ wdfqt @) Ry :
AR . Vi T, TS FreT &, & T e e

A. Washing soda reacts with Alumini -
th Aluminium t ] : e
form soluble aluminates © | C. Washing sodais easily decomposed

- B. Washing soda is expensive _ | D- Washing soda reacts with aluminium to

form insoluble alumini i
124 Rust is a mixture of — minium oxide
AR — L
| fer-—enfame 31

A. FeOandFe(OH); R C.  Fe;03 and Fe(OH);

B. FeOandFe(OH); ‘- ! D.  Fe304 and Fe(OH)3
125 | When lead storage battery discharges —-

o ds W9aq el R ghar @,

8% frapfoa dedt fofaman 3t § wd--

A.. S0, is evolved _ C. Leadis formed

B. PbSQj4is consumed D.  H2S04 is consumed
126 | In a Leclanche dry cell anode is —-

Aoy I dd ¥ TlS....... BT & |
BB N 3T AS [R9-——Tsaa@ d

A. Graphite rod C. Zinc container
B. FeO and Fe(OH); D. MnO+C
127 | On a photographic film layer is present.

sretnfees e 9. )X it 2 |
e fem 3-—-A W@I TR ¢

A. Silver bromide : . C. lodine
B. Potasium D. Nitrate
128 | Energy flow in ecosystem Is -— :
qRefe 73 ¥ Sl 3 I6R. ... d S g |
fe frwor fag Gevr &7 y@o--—- §o7 3 |
A. Unidirectional C. Multidirectional
B. Bidirectional D. None of these R 2
; 129 | Which of the air pressure Is appr sriate for the production of cathode rays In the 1%
discharge tube? :
(Reearst <d) warE faa A dais R o1 S 7 @ foe Swge 90
(20)
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1L € | ———ﬁﬁﬁhhw
Tmfz@a (€9 a8 fagst § @3ue @I ger o mot oerg -5 |
B. : :nm HHQ C. 0.001 cm Hg T ——
' L D. 0.001 mmH ——
130 | How the colour changes when th .
sulphate come | g en the gases after thermal decomposition of ferrous
e Lo ; r:[ contact with aéu ﬂCIdlﬁ;:T solution of Potassium dichromate?
Rrast T feet 3 wr A w1 dr Mol sgwhe @ o
o “‘:"‘%‘ ¥ A W....... 8 o R
W5eZ ¥ WIHA RES 578 9 e Far Y goger F 93 3 S -
I W firgronr mer 3 | fas J 7Y Son Asee (99 Terfams aveiaie er
A. Greento Oran
ge
131 8. Orange to Green g‘ glu: tm((:3 reben!
Bhagirathi. Alakn . €d (0 Colourless
A. _Brahmaputra anda and Mandakini are the headstreams of the river -—
1 B. Ganga g .éam‘una
32 |A gEnEtiCH“Y engineer - avi
ed i
The objective ngthis . form of brinjal, known as the Bt-brinjal, has been developed,
A.  Tomake it pest-resista
nt .
) B. Toimprove its taste and nutritive = _To make !l drought-resistant
qualities D. - To make its shelf-life longer
133 | Who among the foil i %
X Kﬂiiasl?Satyanh?wmg Is the youngest Nobel prize winner? - .-—':‘.-_,"{,. .
B. Rabindranath Tagore g E:::Ia :’-uusafzai,-acﬂi__\_;__ﬁ;"” ’
. erie - i
134 | Who was the first Governor General of independen r o
A. C. Gopalachari e 1 o e
B. Lord Kenning ) Lgrh'ﬁn'ﬁnlbatt
: en
135 | Gautam Budha is said to have attained enlightenment at
A. Bodh Gaya C. Lumbini
B. Sarnath D' M::Tn:gls :
136 | Arya Samaj was started by ' an)
A.  Swami Vivek
B Raja Ra::ﬁ::::?:ny g gwan:llélﬁasianand Saraswati
- o0pa na Gokhale
137 | Afatheris 30 years older than his son, He will b
years. What is the father's present age? ® three times as old as his son after s
B. 40 D. 30 |
138 Eh::;s; :I;e ::r:r;ct? alternative to fill in the bink that will maintain the same pattern.
A 60 B | C. %2
B. 64 D. 62
139 | When did India's Mars satellite Mangalyan enter Mars orbit?
A. 24th October 2014 ; C. 24th November 2014
B. 24th September 2014 D. 24th August 2014
140 | In 50-50 over ICC world cup 2015 Australia was winner. How many times did Australia
win this tournament?
A 2 : C. 4
B. 3 D. §
141 | Who Is the Governor of RBI?
A. Dr. Bimal Jalan C. Dr.D. Subbarao
B. Dr.YV Reddy D. Dr. Raghuram Rajan
142 | The G-7 Is a group consjsting of
A. The heads of the statés of US, UK, C. The heads of the states of US,-UR
France, Germany, ltaly, Canada and France, Germany, Russia, Canada and
Japan Japan
(21)
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— I /A15
B. The finance ministers of US, UK D Th
Francc, Germany, Italy, Canada and - e heads of the states of US, UK,
Japan rance, Germany, Russia, Italy and
1 returned his book which he t =apei
— : 0 me.
A. had given -
B. was given g was gving
What is meaning of the following: — =
To go to the roots of a matter.
g' ?:: \:;rrhgafr;ufr:gzigeg‘“'“g C. Tosow the seeds
: L D. Toknow the cause of
145 | This road leads Delhi.
A. for C. in
B. lo D at
146 | She is fond books.
A. for o C n
B. of D. to
147 | Replace the underlined portion of the following sentence to make it correct:
The performance of our players was rather worst than | had expected.
A. worst than was expected C. worse than expectation
B. bad as | had expected D. worse than | had expected
148 | Replace the underlined portion of the following sentence to make it correct:
Why did you not threw the bag away?
A. you did not thrown C. had you not threw
B. did you not throw D. did you not thrown
149 | Change the voice for the following statement —
My father has solved this matter.
A This matter have been solved by my C._This matter has been solved by my
father. father.
B._ This matter is solved by my father. D. This matter had been solved by my
father.
150 | Change into present continuous tense-
| spoke to her. |
A. | shall speak to her. C. ! will speak to her.
B. |speak to her. D. |am speaking to her.
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